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  	د�تــــا���

 
I. ل وا����	
� �
 ���د
� �� ا
�ر�� ا�و


	ل�  


	 ا����د��         �� :
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5
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x x+ = −  

         ��
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5
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x x+ = −  

      :إذن         
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5
2 7

x x− = − −  

               :أي         
19

4
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x = −  

        :  أي         
19 1

14 4
x = − ×  

        :       أي         
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56
x = −  

إذن ا����د��          
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5
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x x+ =  ��� �	 وا�� ه� −
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56
−  
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 ا����د�� -         
2

5 0
3

x− + ���ل وا�� ه�  ه� =�� �  x#��د�� #" ا��ر � ا�و�

���ل وا�� ه�  #��د�� ا��&�ل ا�%��$ ه� -         �� �  x#��د�� #" ا��ر � ا�و�
II. د�ت��

 �� ��� ا

1
	ل �          


	 ا����د��         �� :6 4 0x + =  

         ��
��      :6 4 0x + =  

6          :إذن          4x = −  

:          إذن         
4

6
x = −  

      :  أي         
4 6

6
x = −  

     :   أي         
2 6

3
x = −  

6إذن ا����د��           4 0x +  ��� �	 وا�� ه� =
2 6

3
−  

2         �
	ل  


	 ا����د��         �� :2 1 7 5x x− = +  

��
��            :         2 1 7 5x x− = +  

2        :              إذن 7 5 1x x− = +  

)        :                 إذن )2 7 6x− =  

                   :           أي
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2 7
x =

−
  

0axآ	 #��د�� ,+ول *� �(�� إ�� ا�)'	  b+ = ./� a و b�1دان �0/0/�ن #�(�#�ن   
���ل وا�� ه� aو�� �  x 4/5 #���م؛ ,%�� #��د�� #" ا��ر � ا�و�
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  :           أي
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          :            أي
( )

( )2
2

6 2 7

2 7
x

+
=

−
  

           :            أي
( )6 2 7
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4            :            أي 2 7x = − −  
  

2         إذن ا����د��  1 7 5x x− = 4 ��� �	 وا�� ه� + 2 7− −  

III. ����

 �� ��� ا
�����1  
   دراهA وآ�'� و1(�9 �(�
�ت إ@�*�   9<�" آ	 وا��ة  7�/��ت #" ا��)4و��ت 6����:�9 1/� #/8د إ���� �7#6 أم          

> "/
BC)� ء�/Eع وأ��E �  . دره��21��� �         إ�
�(6M  دراهA 1" @�10         إذا 1(�6 أن <�" ا�'�'� 
�K0 ب  	N

�ت وأن ,'(�N ا��)
   دره��O140 <�" 1(�9 ا�


�ت؟�)
           *�� ه� <�" ا�'�'� و#� ه� <�" 1(�9 ا�
  ــ��

 "'/�         xAره����
�ت �)
  . ه� <�" 1(�9 ا�
2         إذن  10x   . ه� <�" ا�'�'�−
��
��         :  dh140 = وا�)��ع "/
BCت + <�" ا���
�ت+ <�" ا�'�'� +  <�" ا��)4و�)
 <�" 1(�9 ا�

):          أي     )2 10 6 9 21 140x x+ − + × + =  

2       :         أي     10 54 21 140x x+ − + + =  
2       :         أي     140 10 54 21x x+ = + − −  
3                                      :       أي     75x =  
25x                                       :       أي     =  


�ت ه� �)
   دره��25         إذن <�" 1(�9 ا�
2         و <�" ا�'�'� ه�  25 10×   . دره��40 أي −

�����2  
         ABCD U�)@ V�4#a 3 وa >  

  #%�و
�AEF آ� ,'�ن #%��� ا��&(. 7a/��          ��د 
 V�4�V #%��� ا��4�         ABCD  

  �ــ�

:  ه�AEF         #%��� ا��&(. 
( ) ( ) 23 3 9

2 2 2

a a a− × +× −= =AE AF
  

 V�  2a:  ه�ABCD         #%��� ا��4

:                   إذن
2 29

2 4

a a− =  

):             أي )2 24 9 2a a− =  

2:              أي 24 36 2a a− =  

2:              أي 24 2 36a a− =  

22           :            أي 36a =  

2:                         أي 18a =  

18a:             إذن 18a أو = = −  

3a         و ��� أن  W*  :18aن< =  

2:        أي       3a =  
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